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At 84 A, B, C, D, E, F, G, H, 31X | G 37ear-37e131 Nine boxes A, B, C, D, E, F, G, H, and | are
WWWW%| YA Aeh W Fad Uh kept on the ten different shelves. Only
ST T@T 31T ¢ 3R 318 A UF Tlell §| e d oA one box is kept on each shelf and one of

ng’?ggw“ & 3117TI ”%amﬁl?g aﬁ%ﬁﬂ & T@'” them is vacant. T!1e bott'ommost box.is.

T ¥ ) g9 I8 AP I T | Grelt AeF numbered 1 and immediately above it is
58 Ae® & FUT L1 A & A sraRIT HraEar A numbered as 2 and so on. Two boxes are
& I T HAATRIAT A TH FHA &1 BHIH & FIX kept between G and | which is kept on the
IR TATRIT W& 1S §, Sl ) GH-H&IT IT) topmost shelf. The vacant shelf is above
AeH YT AR TET AT 2| EIN D F T FaaT T 5th shelf. The number of shelves below A
AMFTET AT FRT T AT E FTAE 1 & 3T is one less than the shelves above A. B is
I@T AT g | Fad T Aew B IR cHF A gl kept four shelves above H, both of them

are not kept on the even-numbered shelf.
Only one box is kept between E and D. F is
kept adjacent to neither E nor I. Only one

shelf is between B and C.
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Nine boxes A,B,C,D, E, F, G, H, and | are
kept on the ten different shelves. Only
one box is kept on each shelf and one of
them is vacant. The bottommost box is
numbered 1 and immediately above it is
numbered as 2 and so on. Two boxes are
kept between G and | which is kept on the
topmost shelf. The vacant shelf is above
5th shelf. The number of shelves below A
is one less than the shelves above A. B is
kept four shelves above H, both of them
are not kept on the even-numbered shelf.
Only one box is kept between E and D. F is
kept adjacent to neither E nor I. Only one
shelf is between B and C.
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Which of the following shelf is vacant? A) Shelf 8

w0 | B) shelf 9 C) shelf 10 D) shelf 7 E) shelf 6
o | v

-- Four of the following five are alike in a certain
way and thus form a group as per the given
-- arrangement. Which of the following does not
“- belong to that group? A)BB)AC)HD)CE)E
N

-“ How many boxes are kept above the vacant

- shelf? A) One B) Three C) Two D) Four E) Seven
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EEXIEEESE  Which among the following box is kept three
BESEEEEE| boxes below the vacant shelf? A) A B) E C) The
box which is kept immediately below G D) Both

A& CE)Both B&

o0

7

Which among the following box is exactly kept
between Gand F?A)EB)HC)AD)DE) BothA &
B
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TIRE AfFd- A, B, C, D, E, F, G, H, |, J, 3 K IR 3reer-
39T AIN-3E <Y, rh13eH, AT e 3R TR &
FHA FTE § A s a8 F sl sr A a1 s
fermar 3 sgeraw aY safaFa 3R srfFaw s afFa
FTITT &1 B, H F AT F1F FIAT &1 H F at ARSI 7 3%
;ré’rHR:ﬁramiaﬂ?n%l E, B ¥ HTT ST Tgl FATQ| E
amﬁmaamﬁmmgu FAarE 3R
T HF AT FHFIATE| F IR K TH & RATPT A F17
AT FIT &1 K AT AT ATH ST ATIT A FIA FIAT 2 F
ATRRET A FrF A€t FTar 81 K 3 H v & Qo A
! Lt 8| A Faol Teh SATFd & VT FE FIATS1 AT
A AFH A e IRTH TR 13w &
AT A FI T R EIGATNFIRTTHFIY
mm%ﬁmwﬁa#mmmﬁﬁw
ST ¥aT &R &1 C oT dY B 3 T &) E & 1Y 1A HIAT 2
IR HTE A RHTT A FH AT FIIR B

Eleven persons-A,B,C,D,E, F,G,H,1,J,and K are
working in four different department-IT, Accounts,
Marketing, and HR but not necessarily in the same
order. Minimum two persons and maximum three
persons are working in each department. B works
with H. H neither works in Marketing nor HR. E does
not work with B. E neither works in Marketing nor
IT. F neither works with E nor H. F and K do not work
in the same department. K either works in
Marketing or IT. F does not work in Marketing. K and
H does not work in the same department. A works
with only one person. A neither works in Accounts
nor HR. | and G are not working in the same
department. G neither works with F nor H. | work
with the person whose name is the vowel letter. C
neither works with B nor E. J and H are not working
in the same department.
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Eleven persons-A,B,C,D, E, F, G, H, |, J, and K are working
in four different department-IT, Accounts, Marketing, and
HR but not necessarily in the same order. Minimum two
persons and maximum three persons are working in each
department. B works with H. H neither works in Marketing
nor HR. E does not work with B. E neither works in
Marketing nor IT. F neither works with E nor H. F and K do
not work in the same department. K either works in
Marketing or IT. F does not work in Marketing. K and H
does not work in the same department. A works with only
one person. A neither works in Accounts nor HR. l and G
are not working in the same department. G neither works
with F nor H. | work with the person whose name is the
vowel letter. C neither works with B nor E. J and H are not
working in the same department.
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Accounts | Marketing ' HR
B,H,D K, G, C E 1]

Who among the following person works in the
Accounts department? a) The one who works
with D b) F ¢) G d) The one who works with E e) K

If Ais related to Fand B is relatedtoH in a
certain way. Then, who among the following is
related to1? a) G b) J c) E d) Both b and c e) Both
aandb

Who among the following person works with C?
a) B b) The one who works in the IT department
c) The one who works in the Marketing
departmentd)De)F
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Who among the following persons work in the HR
department?

. E

Il. The one who works with C
lll. The one who works with J
IV. F

a) Onlylandll

b) Only lll and IV

c) Only Il and Il

d) Only Il and IV

e) Only |l and IV

Accounts Marketing IHR
B,H,D K, G, C AR

Find the odd one out? a) I- Accounts b) D- Marketing c) C-
HR d) E- IT e) H- Accounts
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Eight persons-L, M, N, O, P, Q, R, and S are sitting on

35 =fFd- L, M, N, O, P, Q, R, 3T S Teh JATHR AT IX g T , _ iy
IR 7T 0 4 ¥ 38 3o 3T TARETE W gHe §- fwar, | the circular table facing the center. They like different
3oeT TIRTEH, HaT TITARH, R, v v, Tusw s, | airlines- Vistara, Delta airlines, Qatar airlines, Indigo, Air
v 333 3R fafeer veavasr Afer sl gt fr el v Asia, Spice jet, Air India, and British airways but not
1| SR 3 "”ai“ A AT AfFT v WA AT IS I N 3H necessarily in the same order. The consecutive
ﬁ%w#q&?wwﬂa%mwmm
BINFRsHF AT A AFIREI M, 0 F TR A g T alphabetically named persons are not sitting together. N
d3TRIR, WWWW@%%WWQ&& s sits second to the left of the one who likes Qatar
ng Hgo ﬁm%magtl R%ﬁ:ﬁgmmaﬁ airlines. Two persons sit between N and S. M sits

R, 0 & faudia | P3RL eqfeaal .. .
frmmé’r%ﬁaﬁfﬁﬂaﬁ?aﬂﬁﬁ?mﬁmwa secon.d to tI.1e Ieft of 0 R sits |mmed.|ate !eft c?f the one
3t Rfer vaRasr vae #3 o & S S cafeaai rgeary | Who likes Air Asia. Neither N nor O like Air Asia. R and O
Qg ot g aflFa SR R ERATTES I AATRAESs | are not immediate neighbors. R does not sit opposite to

I T 31391 94e ¢ | T€ AT ford TIISH Sie THeE § I8 O. The number of persons sit between P and L is the
:me%ﬂgg;?ga%m@@?fg%?%' O ' same as the number of persons sit between Q and the

one who likes British Airways when counted from the
right of both L and Q. Q sits opposite to the one who
likes Air India. Neither R nor S like Air India. The one
who likes Spice jet sits second to the right of the one
who likes Vistara. O does not like Vistara. Q does not
like Delta airlines.
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Eight persons-L, M, N, O, P, Q, R, and S are sitting on the
circular table facing the center. They like different airlines-
Vistara, Delta airlines, Qatar airlines, Indigo, Air Asia, Spice
jet, Air India, and British airways but not necessarily in the
same order. The consecutive alphabetically named
persons are not sitting together. N sits second to the left of
the one who likes Qatar airlines. Two persons sit between
N and S. M sits second to the left of O. R sits immediate
left of the one who likes Air Asia. Neither N nor O like Air
Asia. R and O are not immediate neighbors. R does not sit
opposite to O. The number of persons sit between P and L
is the same as the number of persons sit between Q and
the one who likes British Airways when counted from the
right of both L and Q. Q sits opposite to the one who likes
Air India. Neither R nor S like Air India. The one who likes
Spice jet sits second to the right of the one who likes
Vistara. O does not like Vistara. Q does not like Delta
airlines.
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Vistara
R

N
Spicejet

Ind%u M
Qatar

Airlines

L Air
India

O

Delta
Airlines

) Four of the following are alike in a certain way. Which of
the following one does not belong to the group? a) P-
British Airways b) R-Qatar Airlines c) L- Indigo d) N- Air
India e) O-Spice jet

Which of the following statement is/are true?

I. S likes British Airlines

Il. L sits oppositeto N

lll. The one who likes Air Asia sits immediate left of N
IV. No one sits between L and P.

a) Onlylandlll
b) Only lll and IV
c)Onlylandll

d) Only Il and IV
e) All I, 11, lll, and IV
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N
Spicejet

Ind%u M
Qatar

Airlines

L Air
India

O

Delta
Airlines

S

British
Airways

Who among the following person sits third to the left of
the one who likes Delta Airlines? a) The one who sits
adjacent to S b) The one who sits second to the left of P c)
The one who sits immediate right of Nd) M e) P

Which of the following airline is liked by R? a) Delta Airline
b) Air India c) Vistara d) Qatar Airline e) Indigo

Who among the following person sits opposite to S? a) R b)
The one who likes Delta Airlines c) The one who sits
immediate right of Rd) Qe) N


http://www.mahendras.org/

SBI CLERK 2022 / /mEmat 11:30 AM/ 0

v AR gear & safaa 3w foen 1 3w 7@ w1
o i a & $oa §| o1 cafdaa) A Seai) A &
I TH AT ART 43 &1 M 30X P & T shael Tra cIfFa 88
gl PFc AT T RASTEI MR sF =
Fad Al ITFT 43 &1 S 3 P & fig daa1 a1t cafFa=at
FFEAT QIR Vv F fiTgdoa ar cafFaat e @
TH FALI G, N F g & Tad T X dor @ 3TN 31T
M & 8h AT H d3T 81 G 3T M & T 88 IfFaar iy
&1 | 3R F S S IFaat NI ageEt el v
3R 1 F fgdear g aRFaai Hraea 130 F o
C R IEG R IR B R E L E AR Rk K IR ICE: ]
3fF FfFd daa &1 N 3T s & g s afFaar Hr
TEIT ) F T8 3N 88 ATFTAT A TEAT A SR 81 C
& T T T A F a1 1 3R A & e el ot
afFd a5 ¢l

A certain number of persons sit in the linear row
facing the north direction. The persons whose
information is known are not sitting together. Only
five persons sit between M and P. Q sits fourth to the
right of P. Only two persons sit between M and S. The
number of persons sit between S and P is one less
than the number of persons sit between Q and V. G
sits fifth to the right of N and sits exactly in the
middle of N and M. The number of persons sit
between G and M is twice the number of persons sit
between | and J. The number of persons sit between
V and | is one more than the number of persons sit
between | and J. More than five persons sit between
J and Q. The number of persons sit between N and S
is twice the number of persons sit to the right of J. C
sits second to the right of A. Only three persons sit
between J and A.
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A certain number of persons sit in the linear row facing the
north direction. The persons whose information is known
are not sitting together. Only five persons sit between M
and P. Q sits fourth to the right of P. Only two persons sit
between M and S. The number of persons sit between S
and P is one less than the number of persons sit between
Q and V. G sits fifth to the right of N and sits exactly in the
middle of N and M. The number of persons sit between G
and M is twice the number of persons sit between | and J.
The number of persons sit between V and | is one more
than the number of persons sit between | and J. More
than five persons sit between J and Q. The number of
persons sit between N and S is twice the number of
persons sit to the right of J. C sits second to the right of A.
Only three persons sit between J and A.
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How many persons are sitting in the row? a) 37
b) 35¢) 38d) 36 e) 39

Who among the following person sits tenth from
the right end? a) P b) The one who sits fifth to
the right of Q c) The one who sits fourth to the
right of Vd) M e)A

How many persons are sitting between G and V?
a)19b)18c) 17 d) 20 e) 21
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Four of the following are alike in a certain way.
Which of the following one does not belong to
the group? a) MS b) PQ c) Qv d) Vi e) JA

What is the position of J with respect to Q? a)
Ninth to the right b) Tenth to the right c) Twelfth
to the right d) Eleventh to the right e) Thirteenth
to the right
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g egfed-P,Q,R,S, T, U, V, W, X, 3R Y 9I=r Ten persons-P,Q, R, S, T,U,V, W, X, and Y are living in
mmﬁwg mﬂﬁ'ﬂm# the five-storey building with floors numbered 1 to 5
?ﬁ%i%ﬁw%ww from bottom to the top but not necessarily in the same
fgn @ﬁ@rmgzuﬁ?ﬁﬁ_gﬁrwﬁ order. Each floor has two flats labeled as flat A and flat
e faT ?I'JT%I v & v A &) e A8 B from west to east respectively. No two people live in
¥ p, s ¥ QY ForeT FUT @1 &, STet axell vk &Y the same flat. P lives two floors above S, where both of
Wa;q.ﬁzﬁwﬁa'| S U fQwH S&dT arelt them are living in the same type of flat. S lives on an
AT I IEAT R U, S & 37X- ﬁ#w%ﬁﬁa—d odd number floor. U lives north-east of S but does not
HqH- mmﬂﬁﬂ'wﬂﬁwgl W,R & live on the even-number floor. W lives immediate
&t 3aT-qdl Fele A @AT 3 V, R & I8T0T-qd 7 north-east flat of R. V lives south-east of R. The number
TE &1 R 3R v & drer Sy wiforel A g u ik of floors between R and V is the same as the number of

X & ot Y AT Y F&AT & GATT &1 T ar X
IRAHVFHIFRF Fle A @A &1 .RIR

floors between U and X. Neither X nor V lives in the

. . . . same type of flat. The sum of the floor number of R and
gjﬂm&%mmﬁ V is one less than the floor number of Q. The difference
AT Y Y AT TE&AT ¥ T 3 P SF FUT between the floor number of U and R is one more than
e AT P AT TEATY, T & I GEAT FT AT the floor number of Y. The floor number of the one who
:lm%| lives immediately above Y is thrice of the floor number

—— of T.
=>-co -

-
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Ten persons-P,Q, R, S, T,U,V, W, X, and Y are living in
the five-storey building with floors numbered 1 to 5
from bottom to the top but not necessarily in the same
order. Each floor has two flats labeled as flat A and flat
B from west to east respectively. No two people live in
the same flat. P lives two floors above S, where both of
them are living in the same type of flat. S lives on an
odd number floor. U lives north-east of S but does not
live on the even-number floor. W lives immediate
north-east flat of R. V lives south-east of R. The number
of floors between R and V is the same as the number of
floors between U and X. Neither X nor V lives in the
same type of flat. The sum of the floor number of R and
V is one less than the floor number of Q. The difference
between the floor number of U and R is one more than
the floor number of Y. The floor number of the one who
lives immediately above Y is thrice of the floor number
of T.
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- Who among the following person lives north of

X? a) V b) The one who lives west of W ¢) T d)
The one who lives south-east of Y e) P

As many floors above U is the same as the
number of floors below _ ?a)Sb) Xc)Qd) The
one who lives immediately above V e) The one
who lives east of T

& B B ]
£ & s ]
o B v ]
LI .

What is the sum of the floor number of P and W?
a)é6b)ac)8d)5e)7
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I L L

Who among the following persons live above Q?
I. The one who lives on 5th floor

Il.The one who lives north-east of X

ll. R

A

a) Onlylandlll

b) Only lll and IV

c)Onlylandll

d) Only Il and IV

e) None of these

What is the direction of R with respect to Y? a) East b)
North-west c) West d) South-east e) North-east
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Bg Ii9d- P, Q, R, S, T, 3T U oad e Rafea a2
mﬁaw%@rmwaﬂ?ﬁ%%aﬁﬁraﬁr
At fF S FA A gl  FATIHT ST F T T
ATT 8T 88 § 1 ST & gfey Y 37 Il Y 37 @ SF1ET
gl 81 U, 34 T Y 3T a1e) SAfFd & 910 § q@e
T T doT ¥ U 3T Q T Tl T gEY & T
4581 Q, 3W AFT & S g1 doT ¢ ST 45 a¥ Y 3T
aTe AT d AT doT#1 Q, U F 3maeeT 781 dor ¥
pIFARTF ST e AT N U FTIfa®I P, QFT
Qﬁraﬁ%ls%agmaﬁzsaﬁa?rmaawﬁ-—cr#
Rrdia da1d| T 3 s F afy I I F et A
FOF T Tars AR, QFTNTTAR I UF
qfel AT geelt Y 1Y, T & S g 9 s F g a¥
m%lsaﬁtqa:aﬁ%rmaﬂmmﬁtqa:aﬁaa:
gwm#waﬁw%l Q,Paﬁrqaﬁa?ramr@rw

Six persons- P, Q, R, S, T, and U in which three are married
couples are sitting at the circular table facing the centre
but not necessarily in the same order. They are of different
ages. The couples are not sitting together. In couples, the
husband's age is more than the wife’s age. U sits second to
the left of the one whose age is 34. U and the spouse of Q
are sitting adjacent to each other. Q sits immediate right of
the one who sits opposite to the person whose age is 45. Q
does not sit adjacent to U. P sits immediate right of the
one who is the husband of U. P is not the spouse of Q. S is
the male who sits opposite to the one whose age is 25. The
age of T is three years more than S’s spouse. Neither S nor
R is the spouse of Q. U’s spouse age is five years more than
the one who sits immediate right of T. The age difference
between S and Q is one year less than the age difference
between R and Q. The age of Q is less than the age of P’s
spouse
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Six persons- P, Q, R, S, T, and U in which three are married
couples are sitting at the circular table facing the centre
but not necessarily in the same order. They are of different
ages. The couples are not sitting together. In couples, the
husband's age is more than the wife’s age. U sits second to
the left of the one whose age is 34. U and the spouse of Q
are sitting adjacent to each other. Q sits immediate right of
the one who sits opposite to the person whose age is 45. Q
does not sit adjacent to U. P sits immediate right of the
one who is the husband of U. P is not the spouse of Q. S is
the male who sits opposite to the one whose age is 25. The
age of T is three years more than S’s spouse. Neither S nor
R is the spouse of Q. U’s spouse age is five years more than
the one who sits immediate right of T. The age difference
between S and Q is one year less than the age difference
between R and Q. The age of Q is less than the age of P’s
spouse
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What is the age of the one who sits second to
the right of P’s spouse? a) 30 b) 45 c) 25 d) 34 e)
None of the above

How many persons are seated between Q’s
spouse and S’s spouse when counted to the right
of Q’s spouse? a) Two b) One c) None d) Three
e)Four

What is the sum of the age of S, T, and R? a) 92 b)
97 c) 96 d) 83 e) 86


http://www.mahendras.org/

SBI CLERK 2022 / /mmat 11:30 AM/ “

Four of the following are alike in a certain way.
Which of the following one does not belong to
the group?

a) T

b) The one whose age is 25

c) The one whose age is 39

d) The one who sits second to the right of T’s
spouse

e) The one who sits immediate left of Q

P’s age is__ years. a) 30 b) 45 c) 25 d) 34 e) None
of the above
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qRE SATFd- A ¥ L & FATAI qfFadl 3rdfa 9fFd 1 3
9fFd 2 A v+ IfFd Wog ARFaA F a1 35 81 o8

S fFa 3aT AT 3R 37T & 3T AY safFa gfaror hr 3w
3+0@ ¥ 9T 1 ¥ 301 A afa ofFd 2 F A5
wﬁaa:aa:m?rm%mﬁmqmmm '
ferm 3 81 Y & e safFa qaTeT foem At #3717 o7t
& v g Yo §1 D, TRFT 2 i et T SR A T T
Wﬁa%aﬁtmmmﬁ:&naﬁm%l D3RIF
Ria 33 T=Fd F <7 Fad Y afFa I3 T ) FaE 3
S IFTA A TEATE & a1 iR S AFaAT Araear &
A ¢1 ) 3R E - aFaat A adt s & w1 AT
D Y ey Ryem Y 3 ¥1 ¢ 31 ) 57 37 AT Rrem Sy
TR F, ¢ F T ¥ guY T W 3o, S 3w vl
agwﬁ?—rsr‘rca;mmﬁa% DHRATIASTRIL FF
F I S5 FfFa & _Auda der gl Haﬁqu\q‘t$
T 4381 G, L F g § o Tu W doT 8, 38
AT B, HF R A cEX TATA R ASTRI AT A1 3T o
Y K Y AT 9fFa & do181 H 3R A Radia feam Fr 3w
37 g1 | 39 AfFa & faadia do1 8 St B & i a1w der
%llsﬁgﬁmqﬁzﬁaﬁ%ls K . & AT f&am Y 3R
3T
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Twelve persons- A to L are sitting in the two Parallel rows i.e.,
Row 1 and Row2 with six persons sitting on each row. Six persons
are facing north and the rest of the persons are facing south. Each
person sitting in row1 sits exactly opposite to each person in row
2. Rowl1l is in the south direction of row 2. Not more than two
persons are facing the same direction sit together. D sits third
from one of the ends in row 2 and facing the south direction.
Only two persons are seated between D and the one who sits
opposite to J. The number of persons seated to the left of J is the
same as the left of E. J and E are not seated in different rows. J is
facing the opposite direction of D. C and J are facing the same
direction. F sits second to the right of C, vice versa. The person
who sits immediate right of C sits opposite to D. L sits opposite to
the one who sits immediate left of F. H and L are adjacent to each
other. G sits third to the right of L, vice versa. B sits second to the
right of H. A neither sits at the same row of | nor K. H and A are
facing the opposite direction. | sit opposite to the one who sits
immediate left of B. | and J are not immediate neighbors. B faces

the same direction as K ‘5;’0’6“



http://www.mahendras.org/

SBI CLERK 2022 / /mEmat 11:30 AM/ 0

Twelve persons- A to L are sitting in the two Parallel rows i.e.,
Row 1 and Row2 with six persons sitting on each row. Six persons
are facing north and the rest of the persons are facing south. Each
person sitting in row1 sits exactly opposite to each person in row
2. Rowl1l is in the south direction of row 2. Not more than two
persons are facing the same direction sit together. D sits third
from one of the ends in row 2 and facing the south direction.
Only two persons are seated between D and the one who sits
opposite to J. The number of persons seated to the left of J is the
same as the left of E. J and E are not seated in different rows. J is
facing the opposite direction of D. C and J are facing the same
direction. F sits second to the right of C, vice versa. The person
who sits immediate right of C sits opposite to D. L sits opposite to
the one who sits immediate left of F. H and L are adjacent to each
other. G sits third to the right of L, vice versa. B sits second to the
right of H. A neither sits at the same row of | nor K. H and A are
facing the opposite direction. | sit opposite to the one who sits
immediate left of B. | and J are not immediate neighbors. B faces
the same direction as K
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Who among the following person sits second to the
left of K? a) J b) The one who sits immediate right of
E c) The one who sits immediate left of C d) The one
who sits oppositetoD e) G

How many persons are sitting between G and the one
who sits opposite to J? a) As many as between A and
B b) One c) Three d) None e) Four

Who among the following person doesn’t sit opposite
to each other?a)A,Eb)G,Ic)B,Fd)L,Ke)H,])
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Who among the following person is not facing
south direction?

a) The one who sits immediate right of B

b)H

c) The one who sits opposite to F

d)L

e) The one who sits immediate left of C

Four of the following five are alike in a certain
way and form a group. who among the following
person does not belong to the group? a) AG b) LH
c) Kl d) IF e) EC
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